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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(it)

(iii)

(iv)

(v)

(vi)

(vit)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks

each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks
each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

Keeping other factors constant, if the price of crude oil falls in the
international market, it may lead to

(Choose the correct alternative to fill up the blank) 1

(a) increase in trade deficit

(b)  decrease in trade deficit

(c) no change in trade deficit

(d) no change in the foreign exchange reserves

Identify, which of the following is not a function of the Reserve Bank of
India. (Choose the correct alternative) 1
(a)  Controller of money supply

(b)  Credit provider to commercial banks

(c) Central agency preparing the annual budget of the Government
(d)  Issuer of currency
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Read the following statements carefully :

Statement 1: Import of gold from Dubai will be recorded on the debit

side of the current account in Balance of Payments of
India.

Statement 2 : Outflow of Foreign Institutional Investment (FII) from

Indian stock markets will be recorded on the credit side of
the capital account.

In light of the given statements, choose the correct alternative from the

following : 1

(a)
(b)
(c)
(d)

4. (1)

(i1)

58/3/2

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

Read the following statements carefully :
Statement 1: Stock variables are measured at a point of time.

Statement 2 : Flow variables and stock variables are same.

In light of the given statements, choose the correct alternative from
the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR

Identify, flow variable from the following :

(Choose the correct alternative) 1
(a) Distance between Delhi and Amritsar
(b) Annual expenditure of a school
(c) Bank balance of Mr. Mukesh as on 315t March, 2022

(d) Investments of Mr. Mohit as on 315t December, 2021

<5 > P.T.O.



5.  Afg Hedig doh, rfegewen ® Ygr AYfd <l W AT ATEdT 7, 1 97
L Hhal 2 | (Teh o™ A & T @) foehew o1 =@ Fifvw) 1

() ok RFIG

(i)  Tohg SIRf&T oTgud H HHl
(i) Gol TR | Afefei = fosea
(iv) g SR H Sifei &1

ICETE R
(a) (1)9 (i) (b)  (ib), (iii) & (iv)
(c) (1), (1) (iv) d) @), 1), (i) 9 (iv)
6. (%) vgaH = fop, FAfafea & @ =H-41, yra & fau fogsht ggr &1 @@
78T 2 | (Tt fasheq &1 =o[ hIfS) 1

(a) Tocer =1 awgti g FarAt &1 =i

(b)  forewni & Wit worgll grT Swwr

(c) Tacsni & a&qeti 9 Tttt 1 3™

(d) A AremrETse fmtar gra g fagsft fas (FDI)

Jrqa
(@) wHiaH 1911 § T8 "al &l AHYdeh qieU a0 U e fashedi # § @&l
IH T FIH HINT, 1
HIcTH 1 HicTH 11

i. YA PTG |iweerk 1 | 1. | foesft ggr Y win

BRI
ii. | e o FHTISH Yehfd 2. | AN XM
iii. | <HeT i TR Yol 3. | MY 39
iv. | #ficiht o1 oTifeles Gehe § T | 4. | foresht g1 < amfd

T 2RO
faehe
(a) 1-1 (b) 1i-2
(c) 111 — 3 d iv-4

58/3/2 <6 >



5. If the central bank wants to reduce money supply in the economy, it may
(Choose the correct alternative to fill up the blank) 1

(1) increase Bank Rate
(11) reduce Cash Reserve Ratio
(iii)  sell securities in the open market

(iv)  buy securities in the open market

Alternatives :
(a) (1) and (iii) (b) (i), (111) and (iv)
(¢) (1), (ii1) and (iv) (d (D, (i), (iii) and (iv)

6. (A) Identify, which of the following is not a source of supply of foreign
exchange for India. (Choose the correct alternative) 1

(a) Exports of goods and services abroad
(b) Remittances by Indian workers working abroad
(c) Imports of goods and services from abroad

(d) Foreign Direct Investment (FDI) by a German automobile

manufacturer
OR
(B) Read the items given in Columns I and II carefully and choose the
correct pair of statements from the given alternatives. 1
Column I Column I1

i. Export of software by an | 1, | Demand of foreign currency
Indian company

1. Accommodating nature 2. | Profit motive
of transactions

1ii. Autonomous nature of 3. | Non-Profit motive
transactions

iv. Loan forwarded to Sri 4. | Supply of foreign exchange
Lanka during its
economic crisis

Alternatives :
(a) 1-1 (b) -2
(c) 1i—3 (d) iv—4

58/3/2 1> P.T.O.



7. T=fatea seuai = ufew @ stfiepes (A) 3R $rw (R) | = feu o fawmet &
T U Tl faehew g
BT (A) : TG Fod 9 Y faw st ff whgal o Sue 78
BId |

FRU(R): ™ & GdeH &R T, 3 Tehdl § THT O, T97 Yfd & e
TE 2 |

ICETE IR

(a) AMWHAT (A) 3 HROT (R) T T & 3 SR (R), TR (A)
gl SITeAT Ll & |

(b)  ITYHIA (A) 3T HRU (R) I T &, AT R0 (R), JNTHAT (A)
<1 g8l AT TET Al B |

(¢) AMMHAT (A) T 7, fehd BRI (R) 3TEH B |

d)  AMHAT (A) T 8, Wihd ST (R) T B |

8. Trfafgd el =i gfeu : AfReA (A) 3R %O (R) | F19 U 7T faehedi |
¥ T T8 fashen g
STYHYT (A) : IFA ITAN TG (APC) 1 Hed Hl off I 31e@T ROTcHh
&l B FHhaT B |
HRU(R):  3iHd ITHN Ygd (APC) 3T & T ¥ ¥&ad gl @ |
faerey -

(a) 3P (A) 3 SR (R) T I & 3R R0 (R), AR (A)
g TS KLl = |

(b)  AMMHAT (A) TR ST (R) TN TcF 8, Afehd RO (R), AHAT (A)
<1 Tl ST FgT WAl g |

(¢) IR (A) T 3, AT RO (R) I8 3 |

(d) IR (A) TEHT B, Afehd ST (R) TF 7 |

58/3/2



7. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Ex-ante savings and Ex-ante investments are never equal

to each other.

Reason (R): At equilibrium level of income, aggregate demand may not

be equal to the aggregate supply.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : The value of Average Propensity to Consume (APC)

can never be zero or negative.

Reason (R): Average Propensity to Consume (APC) is independent of
the level of income.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
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10.

11.

12.
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Read the following statements carefully :

Statement 1: Savings function can be derived from Consumption

function.

Statement 2 : Consumption curve must always start from the point of
origin.

In light of the given statements, choose the correct alternative from the

following :

(a) Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

i) If in an economy, the value of Investment Multiplier is 5 and
dissavings are (—)100 crore, the relevant savings at income level of

T 1,400 crore would be ¥ crore.
(Choose the correct alternative to fill up the blank)
(a) 80 (b) 180
(c) 140 (d 240
OR

(i1)) The range of value of Investment Multiplier is always between
and . (Choose the correct alternative to fill up the blanks)

(a) zero (0), infinity (o)

(b) one (+ 1), infinity (eo)

(c) zero(0),one(+1)

(d) minus one (— 1), plus one (+ 1)
Discuss briefly the determination of exchange rate under the flexible
exchange rate system.
(a) Discuss briefly the three components of ‘operating surplus’.

OR

(b) Defend or refute the following statement, with valid argument :
“Depreciation is fall in the value of an asset due to unexpected
obsolescence”.
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13. (a) Read the following information carefully :

“The Monetary Policy Committee (MPC) of the Reserve Bank of
India (RBI), recently increased the Repo Rate by 50 basis points.
The Rate stands today at 5-40%, whereas Reverse Repo Rate was
left unchanged at 3-:35%.”

Answer the following questions :

(1) Identify the nature of the two monetary policy measures

mentioned in the above text. 1

(ii) Elaborate the likely economic rationale behind the increase in

Repo Rate by the Monetary Policy Committee. 3
OR

(b) Suppose an imaginary economy is facing a situation of deficient
demand in the short run time period.

Discuss briefly, the probable impacts of the same on the economy. 4

14. Using a suitable numerical example, explain the credit creation process
of the banking system, in a hypothetical economy. 4

15. Suppose the following information is given about a hypothetical

economy :
C=200+075Y (where, C = Consumption and Y = Income)
I, =300 (Iy = Autonomous Investment)

Calculate the following on the basis of the given information :

(a)  Equilibrium Level of Income 2
(b)  Aggregate Demand at Equilibrium Level of Income 1
(c) Marginal Propensity to Save 1
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55-5% % ghlad PFCE 61-1% &1 | galich ardiosh €9 H feR Shimdi |,
HIfI8-19 ¥ Th a9 Id, 2019 — 20 % Q1 h go1 § PFCE | HTH 9-88% hl

gfg ai g8 off |
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16. (a) (1) “In the recent times, the Government of India has incurred a
lot of expenditure on acquisition of indigenous defence items
under ‘Make-in-India’ programme.”

Identify and discuss the two types of budget expenditures
which may by undertaken by the Government as suggested in
the above statement. 4

(i1) State any two examples of revenue expenditure of the
Government. 2

OR

(b) (i) Two friends, Deepak and Krish were discussing the impact of
increase in GST rates on luxury items, as recently undertaken
by the Government. Krish was of the view that most of the
luxury items (like foreign travel, imported cigarettes, etc.)
should be taxed exorbitantly, while the items related to daily
consumption of poor and middle class should be tax-free.
Identify and explain the objective of the Government budget
Krish is suggesting. 4

(ii) State the meaning of ‘primary deficit’ in the government
budget. 2

17. Read the following text carefully :

In India, after Covid-19 period, household and private sector

consumption, as measured by Private Final Consumption Expenditure
(PFCE), was T 39-7 trillion in nominal terms in Q1 FY23, compared with

T 284 trillion for the same period last year, and ¥ 39-2 trillion in the
fourth quarter (Q4) of 2021 — 22 (FY22).

As a percentage of Nominal GDP, PFCE was 61'1 per cent, compared
with 55-5 per cent in Q1 FY22. However, in real terms at constant prices,
PFCE grew just 9-88 per cent, compared with Q1 of 2019 — 20 — the year
before the Covid-19 pandemic.
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(a) National Institution for Tribal India

(b) National Institution for Technical India

(c)  National Institution for Transforming India

(d) National Institution for Training India
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18.
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“Recovery in domestic demand is reflected in the growth rates of PFCE
and Gross Fixed Capital Formation (GFCF) over the corresponding
quarter of the previous year,” said D.K. Srivastava. GFCF came in at
T 19 trillion in Q1 FY23, compared with ¥ 14-4 trillion in Q1 FY22.
However, it was slightly lower than ¥ 20-2 trillion in Q4 FY22.

In the media briefing after the GDP numbers, Finance Secretary
T.V. Somanathan said this trend was expected as GFCF in present Q1
was usually lower than the previous year’s Q4.

On the basis of the given text and common understanding, answer the
following questions :

(a) Compare and analyse the trends of change in PFCE as a

percentage of GDP, both in real and nominal terms. 4

(b)  “Private Final Consumption Expenditure is an important factor
determining Gross Domestic Product at Market Price.” Justify the

given statement. 2

SECTION B

Indian Economic Development

(A) From the following alternatives, identify the correct full form of
‘NITT in NITI Aayog : 1

(a) National Institution for Tribal India
(b) National Institution for Technical India
(c) National Institution for Transforming India

(d) National Institution for Training India
OR

(B) Ina economy, resources are owned and operated by both
public and private sectors.
(Choose the correct alternative to fill up the blank) 1

(a)  Socialist (b)  Capitalist
(c) Democratic (d) Mixed

a1 > P.T.O.
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20.
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()

frafafaa e & ded d 98l fasew i gg=m i

“1966 — 76 % HEF, HIST 4 39 MTaIc bl Y Teham o1, g 3TaTia
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(a)  HFgd Ut

(b) U AU BT

(c) @d grR i ifd

(d) TEW FEER HEhideh il

areran

frfeiiad el 1 eaHgE® dieu
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SR TTeEdl il STTEfed feham T o |

FY72: Tomw o7fdw &7 (SEZ), faceh faw o senfish! =i aTmehiva
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(a) AT 1TcT B 3N Y 2 37EH § |

(b) YT 137HT & AN FAT2HHT ¥ |

(¢) YT 1R 251 AT 7 |

(d) HF 13N 2T A 7 |

o

rfdeTe] arE SRishT Ui referar & qay fas@ @ gifead w8
eyl fieet A B, i d |
(feh T WA & fotu g&t fasheq &1 ==m Shifvm)
() oo wgEd Teq 4 3
(i)  HAET GRhHUT e Hid 8
(i)  3fior=Ties @@ (3RT) orTedt i ug= | g *id @
ICETR R
(a) had (i) 9 (ii)
(b)  <had (ii) 9 (iii)
(c) <had (i) 9 (iii)
(d) @), )9 (i)

AAAT



19.

20.
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(A)

(B)

(A)

Identify the correct alternative with reference to the following

statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real

life situations prevailing in the countryside of China.”

(a) Commune System

(b) Great Leap Forward

(c) Open Door Policy

(d) Great Proletarian Cultural Revolution

OR

Read the following statements carefully :

Statement 1: In the agricultural sector, communes were
established, where land holdings were allocated to
individual households for ownership.

Statement 2 : Special Economic Zones (SEZs) were established to
attract foreign investments and technology.

In light of the given statements, choose the correct alternative from

the following : 1
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

Micro credit programmes play a vital role in ensuring an overall
development of the rural economy as they
(Choose the correct alternative to fill up the blank) 1

(i) provide financial support
(ii) lead to women empowerment
(iii) enhance the reach of formal credit system
Alternatives :
(a)  Only (i) and (i1)
(b)  Only (ii) and (iii)
(c) Only (i) and (iii)
(d) (), (i1) and (iii)
OR

P.T.O.



(@) ShIfd < UTHIOT |R@ JUmTel ® 9igd 9 qiad 1 gdTd fepa
oT, Fifeh 304 UTHT foeprd o fafStdl =eeni w1 3IcqTesh RO sl AR

3@ L fafagdt ygm 1 off |
(Teh T wa & fore @&t faspew &1 =am difse) 1
(a) ¥oa (b) Id
()  ieh d =ia
21. “arfereae H ofifder Wl 9 MYAAr % QA: ATTHH % hy HRUT FATC ST Hehd
%l,’
qge-T foh, f=feiad § 9 i9-91 399 § U 787 8 Gehdl | 1

i)  faesf o @ et v

(i) TR suUes (Tufe) v ohas

(i) AR F Ty

ICET I

(a) (@), (1) o (iii)

(b) (1) 9 (1i1)

(¢c) (DI (3iD)

(d) I (i)

22. (&) T FANGIRAHEA (CFC) Rfehl 9 3= A &)
TERAT o YA W Ifdaer T o Gehed shl ST |
(Th o wa & fote @&t fasped &1 =am difse) 1
(a) IR Wehid
(b)  UfE WerRA
(c) WIf~eTat Ml
(d) wecis I 6l e
D]

(@) TA ot (YFieRefi Ademet) & IER, Hefdigd § 9 SH-81 gad
freRTa Ted R <) fewm | Wk 37993 hed TE7 8 ? 1
(a) UHE TTEEIT I YAl Y YR Fuar de T e
(b) AN YU Tehriehl TN
(c)  ToTohTuli™ FETLHT o TIShNUT Thl G oI ohl ST | A4 7 &
(d)  TGE o HRUT IcHH AFHARA H GER
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(B) revolution was the harbinger of major changes in the
credit system as it led to diversification of the portfolio of rural
credit towards production-oriented lending.

(Choose the correct alternative to fill up the blank)
(a)  White (b)  Silver
(c) Blue (d)  Green

“Multiple reasons for economic slowdown and re-emergence of poverty in
Pakistan may be enumerated.”

Identify which of the following might not be one of them.

(1) Rising dependence on foreign loans

(ii)  Stable macroeconomic indicators

(iii) Unstable agricultural growth

Alternatives :

(a) (1), (i1) and (iii)

(b)  (ii) and (iii)

(¢) () and (iii)

(d)  Only (1)

(A) adopted the resolution to ban the wuse of
Chlorofluorocarbon (CFC) compounds along with other ozone
depleting chemicals.

(Choose the correct alternative to fill up the blank)
(a) Kyoto Protocol
(b) Paris Protocol
(c) Montreal Protocol
(d) Brundtland Commission Report

OR

(B) According to Herman Daly (an environmental economist), which of
the following is not an essential step towards achieving sustainable
development ?

(a) Limiting human population to carrying capacity of the
environment
(b)  Input inefficient technological progress

(c) Rate of extraction of renewable resources should not exceed
rate of regeneration

(d)  Correction of inefficiencies arising from pollution



23. Tr=fafaa oAl = gfeu : 3rfiehed (A) 3 w1 (R) | 9 feu 7w foepedi #
¥ T g fashew gihw

STYFHYT (A) : TR TIy FeaTr IeH SRishHl & ATEAH | SRS Sl 6
T T TATE L T @ |

FRU(R): ¥ FETaT IFeH HRHA TI& I e I F VR o HLd
g |
fereped

(a) 3T (A) 3 SR (R) THI T & JN SR (R), AR (A) HI
gl SIS LAl 7 |

(b)  ITYHI (A) 3T RO (R) I T &, Wihd HRUT (R), TR (A)
<1 HE e 7ET WAl g |

(¢) IR (A) T 3, Wlhd RO (R) I8 3 |
d) AR (A) T 8, Wihd ST (R) T B |

24, Tr=fafEa woAl <t afen : fseped (A) 3R o (R) | =9 feu v faemreat #
¥ s Tdl foshen giw

7B (A) : TEaAdT 34, Tecdiaes & § wif Fow & savgehdr & SR
T &3 1 Tg@ e < T8 of |

HRO(R):  Senfies & foret off srefoxereen i fig 1 g5t @

IEETR I

(a) AMMHAT (A) 3 HROT (R) T TcF 8 3 SR (R), IR (A) I
g TS KAl = |

(b)  ITYHI (A) 3T HRUT (R) I T &, Wihd RO (R), IR (A)
1 T8l AT TET a1 B |

(¢) IR (A) T 3, Wfhd RO (R) I8 3 |

(d) IR (A) ITET 7, Afehd ST (R) TF 7 |
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23. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Government can try to reduce unemployment through
special poverty removal programmes.

Reason (R): Such poverty removal programmes directly or indirectly
lead to employment generation.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

24. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Post independence, public sector was given a prominent
role, due to requirement of huge investments in the

secondary sector.
Reason (R): Industrial sector is the backbone of any economy.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

58/3/2 <23 > P.T.O.



25. UgATHY b, MHfARad § ¥ HE-A1 7Ha Y1 @i a offdes foeh % #e
T HEY TAMUG 75T AT B |

(a) U AfNfYa =afs f qon § ueh Wifara safw it I eman siferes
B 3 |

(b)  ieh{l T SIRIE0T Teh WSlgl o hiRIcd H HHT T |
(c) T HRIEA NAITET o fTC IEH 2 |
(d) fefea e arafas TmmEfy & fof o § g8 gid 2 |

26. TI=fafEd wea =1 ufen : AfRAT (A) 3 SRw (R) | = feu U fospei 1 @
T Hal foeheq 9T
SfHT (A) : 7 91 9og R AT FHHAT 1 Toh Jga Gehdsh 3 |

HRI (R) : A, UTfehed™ o =9 | STt (male child) & T werfiesar
ICECIEE

fereped

(a) AMMHAT (A) 3 HROT (R) THI T 8 3 SR (R), IR (A)
gl SITeAT LAl & |

(b)  AMMHAT (A) IR ST (R) THI T 8, Afehd RO (R), AMMHAT (A)
1 T AT T Al B |

(¢) 3P (A) T 7, Wihd HRUT (R) T 7 |
(@) YR (A) T 7, Afehd SR (R) I 7 |

27. Trafafad HeAi 1 eIHYEs ufeu

FYT1: <t feeriEt g SHEe FEme v § Ted gaq fifd” &
3UANT 37T T @ | feram T o |

HIT2: INdh TOgHl & IR, Thal FaH Hid giT ferl 3T (YH Th
TR GeNi § AfgaATsTi i 3q4Td) H FRrae o of |

feu U oMl & A H, efaiaa # 4 w@l faeed o1 =34 hifve -

(a) Y 19T 3 3N HH 2 370 8 |

(b) HYT 13T § AN HIA 2T 7 |

(c) HI1AR2TH AT |

(d) HYF 13 2THN A 7 |
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Identify which of the following does not reflect a direct relationship
between human capital formation and economic growth.

(a) Employability of an educated person is higher than that of an
uneducated person.

(b)  On-the-job training will reduce the skills of labour.
(c) Healthy workforce is a boon to the economy.

(d)  Digital information helps in taking real time decisions.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below.

Assertion (A) : Lower child mortality rate is a better indicator of gender
equality.

Reason (R): Preference for a male child exists in India, Pakistan and
China.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Read the following statements carefully :

Statement 1: ‘One-child policy’ was very effectively used in controlling
the population by the Chinese authorities.

Statement 2 : One-child policy, according to scholars, led to a decline in
gender ratio (the proportion of females per 1000 males).

In light of the given statements, choose the correct alternative from the
following :

(a) Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.



28. “Ush w=d HY FOT T T & W e it sawEes 7 17
T 319 U 7T oM ¥ TgHd & ? AT doh gIRI 379 3T hi gfte shifaT |

29. (&)
(@)
30. (&)
(@)

S THeh-THHEAT AT h! TNYTYG I T ST Tewd TSy |

e
‘aa IS 9 Aee T’ 1 fadg Hife |

“ehg srefaet wrg Td 2 TR 1991 i oo gam ufskan 3 Y &9 W
el JuTd STel 7 17

FIT MY T T Heq & TgHA & ? 304 IW o U H AT qob T
SHifsT |

AASAT

() fofew s s i sienfies ifa i forsl @ s A =
Hifre |
(i) YR d=edia JSHT Tishat o IR 32991 o 9M fafkau |

31. fr=fcfea difeteht i SaMYEs dfeT :

137 7] 4 39157 Fhg 1 Igrat, 1980 - 2015

&7 1980 - 90 2011 - 2015
HIY FET a7 HIY JETT gar
I 31 7-4 69 2:3 5 84
= 59 10-8 135 4-1 81 84
qTiehed™ 4 7-7 6-8 2-7 3-4 4-4
fou U aui & RM, WRA 9 WifheaE § ol &R H 3Icaed gfg i Sa
(trend) 1 Terersor iR |
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28. “A well-structured agricultural credit system is very essential for the
rural sector.”
Do you agree with the given statement ? Justify your answer with a valid
argument.
29. (a) Define worker-population ratio and give its significance.
OR
(b)  Distinguish between ‘Human Capital’ and ‘Human Development’.
30. (a) “Many economists believe that the economic reforms process of
1991 had adversely affected the agricultural sector.”
Do you agree with the given statement ? Quote valid arguments in
favour of your answer.
OR
(b) (i) Explain any two shortfalls of the industrial policy under the
British rule.
(ii)) Quote the four goals of the five year plans process of India.
31. Read the following schedule carefully :
Trends in Output Growth in Different Sectors, 1980 — 2015
Country 1980 - 90 2011 - 2015
Agriculture | Industry | Service | Agriculture | Industry | Service
India 3-1 7-4 6-9 2-3 5 8-4
China 59 10-8 13-5 4-1 81 8-4
Pakistan 4 7-7 6-8 2:7 34 4-4
Analyse the output growth trend in the three sectors over the given years
between India and Pakistan. 4
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0T dehl I Iooid shiftoie fop, f=iforiad oM wca 8 31eran 3mecy

(%) YR JdTgLer 3 B & fodi 4 Fried & =i 6 fom #
TdysHeh Sfa a9 8 |

(@) TRt % TR W AfGArsTt i e Wriqll ol ¥ha WRe] 3G |

N M o o
ciellend dal lendl Slidl % |

(®) () TH USg o foeh™ | freq i fftehr St samea Hifvu |
(i) WG St TFeIaET | UTHIUT SfehtT o Hawd ol 3ol hifoT |

HAYAT

@) ()  AEd foarel a9g % B @ ?
(i) e ST (1964 — 66) i fopelt T Fawiir 1 3ecr@ dn
ferr=rm FifSw |
(i) feu mu fa & oreltss o, unofia foeema giafeea e & oo feneht
Tk WA Al 9g=H 9 = it |

Fie: [AEliEd gv7 Faa ghearnfaa ahenfaat & fog 3. 4.
33 (@) (iii) & TIT W& :

YT o o) Tk ki <l SR hif |




32. State, whether the following statements are true/false, with valid
arguments :

(a) Indian economy has shown satisfactory progress towards
formalisation of the workforce in the recent past. 2

(b)  Economic participation of women as homemakers is not accounted
for in the Gross Domestic Product. 2

33. (a) (i) Explain the role of education in the economic development of

the nation. 4

(ii) State the importance of rural banking in an economy like
India. 2

OR

(b) () Who is a casual wage labourer ? 1

(i1) State and discuss any one recommendation of the Education
Commission (1964 — 66). 2

(iii) In the light of the given image, identify and explain any one
strategy to ensure sustainable development. 3

Note: The following question is for the Visually Impaired
Candidates only in lieu of . No. 33 (b) (iii) :

Explain any one function of the environment. 3
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frfcRad & &l eHYEeh 9feu :

TIAIdl o 91, YR 9 fEnfiies ATcHAdar & 99 38 &l Ied 3 & fou
w¢ Irfeuaten Hisd 1 = fohar o | ufomrawd, sfenfies e 3reud
HEEU! & T AT | TedEd 39U, SMEfes faehe yuw 1 gureni # §gd i
o, @HdR T gel o el AeEr sEty | | feda aem 9 gw 1 S
Sife b1 3 foham o | 39 srafy # g Menfies foshra @t & uftafera 8 &
{B§HEFRW'§ :

(1)  alees ifqal 9 sfemfiet w o |

i)  Menfies Hfifa @ T & Nenfie fasha o e 389 a9 |

(i) STl &= H &war FHator & gHed % foe i fe e |

(iv) WIS % TUEThd dgal aF qo Wl Iudihrstl i TR & fafve Jehr &
T IeaTe i /I H gy |

(v) ORq 99d 9 faeu | I |emeEt g aida sTiiees faear i T |

13T 7T e T G GHE % IR T FE171&d Fe7 & I G :

(%) ua i fgda goadta 9T 6 gaamaty w1 Seaw HIT |

(@) wRa i Tyt u=afa JisT &1 S T w81 ST 2 2

() foda 9 g deEdta ST % A HRA i did STEieh T
Tid o fepegl @l ron 6l wféread ==t HifT |




34. Read the following text carefully :

With independence, India chose the closed economy model in pursuit of

its objective of industrial self-sufficiency. As a result, industrial structure

has become considerably important. In the post-independence era, the

industrial growth was rapid during the first two decades, especially
during the Second and Third Plan period. The Second Plan introduced

‘Industrial Revolution’ in the country. The main reasons for high rates of

industrial growth witnessed during this period were due to :

(1)
(ii)

(iii)

(iv)

(v)

Emphasis on industrialisation in economic policies.

Making industrial growth the main objective in the industrial
policy and planning.

Huge investments being made to support capacity creation in the

industrial sector.

Growing demands for a variety of new products on the part of the
urban consumers and the relatively better-off sections of the
society.

Pace of economic expansion supported by domestic savings and
inflow of resources from abroad.

On the basis of the given text and common understanding, answer the

following questions :

(a)
(b)

(c)

58/3/2

State the time period of the Second Five Year Plan of India

Who is considered as the Father of the Second Five Year Plan of
India ?

Discuss briefly any two reasons behind the industrial growth
during the Second and Third Five Year Plans of India.





